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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Business, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2023 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

9609 June 2023 Question Paper 22

9609 June 2023 Mark Scheme 22

Past exam resources and other teaching and learning resources are available on the School Support Hub


http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments

L Lont)] wnoveton @ €@ !dentify as a command word
oV Led)| wnovehon @ only requires a simple answer and

the candidate gives the quality
“| | (innovation).

W | e nexd omose daswedh | oplion Baek  muark \ag |
oLV S ompoccontiy Cost oeek st || Mark for (a)(i) = 1 out of 1

@ The candidate is awarded a
clear knowledge mark for their
e | definition of opportunity cost.

\{%w)A Examiner comments explain
Responses are written by real candidates in exam where and why marks were
conditions, demonstrating the types of answers for awarded. These help to
each level. These could be used to discuss and interpret the standard of
analyse the answers with learners in the classroom to Cambridge exams to help
improve their skills. learners refine their exam

) technique.

How the candidate could improve their answer

* The candidate was awarded most of the marks for this question, but a large amount of (d) did not answer the
question. For a 12-mark question, half of the response should be focused on the skill of evaluation. This candidate
gives too much analysis and not enough evaluation.

* The use of context was reasonable, but in each question where a mark was not awarded it was due to a lack of
contextual application. In (a)(ii), this was application of opportunity cost, in (b)(ii) it was not enough specific context
about OFD and in (d) it was a lack of specific context about OFD in the judgements and evaluative comments
made to answer the question.

This section explains how the candidate could
improve each response. It helps learners to improve
their exam technique.

Common mistakes and guidance for candidates

+ Candidates must be aware of what is required for each command word used in a question paper. The command
word, in combination with the number of marks available, should give a good indication of the length of answer that
is required. Writing too much is not detrimental to the mark awarded, but it does limit the time left for higher mark
questions.

This section lists common mistakes as well as helpful
guidance from the examiner. This will help your learners
to avoid these mistakes. You can use this alongside the
relevant Examiner Report to guide your learners.
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Question 1

Example Candidate Response — high Examiner comments

v [ o) wonovecnon @ @ !dentify as a command word
oV Led)| wnovehon @ only requires a simple answer and

the candidate gives the quality
7| | (innovation).

W | e nexd omose daswedh | oplion Baek  muark ag |
QMeA Lo . COSTIRUYS opeortonthy cosk ot et || Markfor (a)(i) = 1 out of 1

Lme- ey second . OPEAOO .2 oxeNO0M. AN e |

The candidate is awarded a

e Application marks are available
for applying the knowledge of
opportunity cost to a business
context. This question does not
reference OFD or Markus, so the
application can be to any business.
However, the candidate chooses to
apply to OFD and Markus’ decision
to purchase a warehouse. There are
two elements to opportunity cost;
the decision or choice and the lost
benefit. In this case, the candidate
exemplifies the lost benefit (the
second option warehouse), but not
the decision being made.

Mark for (a)(ii) = 2 out of 3

.1 )] cosag.patong = sponee (nbrow —oolow) |

e+ (33 -12) = -vd @

o The candidate gives a well

set out answer. They show the
formula and then outline the correct
numbers and the correct answer.
The correct answer is negative and
the candidate makes this clear.
However, since the question paper
uses brackets to show a negative, it
is a good idea for the answer to also
use them. The reason why brackets
are preferred for minus numbers is
that it is clearer, as opposed to a
minus sign which can be more easily
missed.

Mark for (b)(i) = 3 out of 3
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Example Candidate Response - high, continued Examiner comments
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This question requires
knowledge and application skills to
be shown. The candidate shows
their knowledge quickly (the amount
of finance needed).

e The second sentence does

not add to the answer in terms

of application. The candidate's
response is generic and not specific

| | to OFD, so it is not awarded any

marks. Mentioning the name of
the product will not be awarded
application marks.

@ The last few words (limited start-
up funds) of this answer are the only
part which is specific to OFD.

Mark for (b)(ii) = 2 out of 3
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Example Candidate Response - high, continued
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Examiner comments

e The candidate offers a clear
chain of analysis. The advantage is
that workers will be more productive,
which can lead to more efficiency,
lower costs and greater profit
margins.

Q The candidate continues their
chain of analysis by using two-sided
analysis. There is nothing wrong
with this, but the marks have already
been awarded and continuing the
development of the analysis is
wasted time for another question.

@ The candidate shows good use
of context in the disadvantage. This
answer is specific to OFD and their
customer service workers. Good
analysis is always in context and

| | applied to the specific business
given in the data.

Mark for (c) = 8 out of 8

m Plans can be very useful for a
candidate and allow them to work

| | out which points are going into
"| | the answer. However, by crossing

out the work, the examiner is not
allowed to award any marks (when
an alternative answer is given). An
answer is never negatively marked,
so it is always worth leaving the
plan without crossing out, so that
anything relevant (that adds to the
answer) can be awarded marks.
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Examiner comments
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@ Evaluation can occur at
any point in an answer and this
judgement is awarded Level 1 AO4.

@ Very quickly, the candidate
shows two pieces of knowledge
about cost information (useful to
make business plans and to forecast
cash flows).

This chain of analysis starts with
profit and it is difficult to continue
the chain beyond this. However, the
candidate takes a step backwards
and states why it would lead to
greater profit. Candidates should
outline their chains of analysis in a
logical order that follows a normal
flow.

@ At this point in the response,

the candidate is awarded all of the
AO1, AO2 and AO3 marks. They
are also awarded one AO4 mark. By
continuing to analyse, the candidate
is not adding to their marks and the
focus should be on evaluation (AO4)
which has half of the marks for a 12-
mark question.

Some more evaluation here
focused on the importance (the
wording of the question) of the
accurate cost information. This
reaches Level 2 AO4, but it lacks
the context required to push this into
Level 3 AO4. There is a reasonable
development of the evaluation as
this ‘mini conclusion’ goes across
the page, but it does not alter how
well-developed the evaluation is. If
it is not specifically in the context of
the business, then it cannot progress
into Level 3.
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Example Candidate Response - high, continued Examiner comments
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Examiner comments
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@ The candidate offers further
evaluation of the importance of cost
information, and they make their
answer slightly more specific to
OFD. By mentioning the customer
assisted employees, this is at
least an attempt at context which
is awarded marks at Level 3 AO3.
However, this is at the bottom

of Level 3 AO3 and needs to be
contextual to improve the mark.

@ The candidate makes a
reasonable conclusion, but without
specific context so does not improve
the mark beyond the bottom of
Level 3 AO3.

Mark for (d) = 11 out of 12

Total mark awarded = 27 out of 30

How the candidate could improve their answer

The candidate was awarded most of the marks for this question, but a large amount of the response to (d) did not
answer the question. For a 12-mark question, half of the response should be focused on the skill of evaluation.
This candidate gave too much analysis and not enough evaluation.

The use of context was reasonable, but in each question where a mark was not awarded it was due to a lack of
contextual application. In (a)(ii), this was application of opportunity cost, in (b)(ii) it was not enough specific context
about OFD and in (d) it was a lack of specific context about OFD in the judgements and evaluative comments
made to answer the question.

1
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Example Candidate Response — middle Examiner comments

v @ || @ The candidate gives a clear and
concise one word answer.
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The candidate provides
a reasonable definition and
is awarded full marks for this

ity . Wu\/ answer. It is not as precise as
(G)U~ n__NQKLB\I\‘(\/\/LOLMJ_&AI(\OW‘WO\A),_ et s+ 2 e e meaning iS Clear and the eXampIe
-23 (49 29 - FL

i . is simple but effective. There is

clear exemplification of the choice

e s e || (D@tWEEN @ PEN OF @ pencil) and the
—-—1 | lost benefit (the pencil).

| Oty e~ sy s 599 =3 ur
: @ The candidate correctly
Chovig '—3’(})&&?&3&\ calculates the closing balance (—33).
S — e | | However, they take the opening
G Ui) VRGNS M WM v\\’\wfw, K\A&MM&\ UROUR 9’( & | | balance from the previous month
_— Sl of QoA 18 Pale. O AnKRIEAC Yo, 0. k. mm_ | | instead of the closing balance from
| ‘% he (W\!& M\Wd bo__puy Iooon. g Scrgie % {WMQ( the previous month (which becomes
A D 0peined Hinas 1 Ing Mnoid Unook. Og 0/ S0NIL. the opening balance). That might
@At AL suggest 2 marks, but in this case
the formula is actually wrong. This
1 L | 0o /\‘U(K ] O?@ o "3“0\1\3 ABARON Ay b can be seen because the correct

formula is opening balance + net
SR R Nowess ‘m hmx SUOWSA a0 See TN Ll \aa
Pt ¥ D cash flow. If the candidate had used

{(\l’ﬁ guimt Ay - o I\M}\% ood mmximwu the correct formula, then their own
% N‘g’iggﬂ‘ Kw 0 o0l VAL G answer would have been -77, not -7.
1 D e, Aateatiucnom Owd sy wises e owd | | Mark for (b)(i) = 1 out of 3
ok oy muy Ay Lo QXAMZ?WMM © The candicate gives a
P- Sal ARNRL R~ e - | reasonable factor affecting the
,_,_,O,\xmw..“.w,.,.._:\z\oxa..mmm;\g\&,,_\M(,mac o amplogers | source of finance, but makes no
attempt to apply the answer to
Markus or OFD so is only awarded
1 mark.

Mark for (b)(ii) = 1 out of 3

The candidate correctly
identifies that induction training may
help the business to ‘start working
properly’ and this could lead to more
‘prosperity’ for the business. This
is very weak analysis and it would
have been much better to link this to
revenue and profit, which are more
technical terms. This advantage is
awarded Level 1 AO3 and there is
no application in the point.

12
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Examiner comments
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@ The disadvantage is better and

being done leading to less output
and less profit), but the candidate
does not attempt to use the context
of OFD so this answer has no
application at all.

Mark for (c) = 5 out of 8

@ Early judgements are valid but
tend not to have the depth required
to go beyond Level 1 AO4. In this
case, the first sentence is a simple
judgement with no justification.

6 The candidate gives a simple
piece of analysis with no application
or development. They do not make
it clear why a lack of money might
lead to business failure. Filling in
this gap would have pushed this up
into Level 2 AO3.

Q The candidate makes a basic
analysis. It does not matter how
many pieces of Level 1 AO3 there
are, as it can only be awarded 1
mark. To increase the AO3 mark,
the candidate needed to show some
development of the analytical chain.

13
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Example Candidate Response — middle, continued Examiner comments
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@ The candidate offers another
basic judgement with no justification.
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@ The conclusion has both
elements expected from an
evaluation to this question, however

R e A I X 60N S e Ve CaARe | | o it does not d evelop
NU_A.A‘QA\A}O\A‘V!{\OMO{A“L%J\Q_Wlu fems=tra——| | either element. The judgements just
A__be a9 Wp@m, IAW\T“MWQ[\_A ---—-| | repeat the previous judgements, but
Phagel N8 \ntia 0 sawns. o hinaate. ATk (B | | they are not justified and there is no
OI\A UMXW) he g5 loslwared  ddeoni fﬂw JBux A | | attempt to use the context of Markus
. LAk | or OFD. The candidate gives some
(A‘m U\ts(w\m:\mmm;\g u_/POED e | PETSPECtive ON the judgement

(depends upon) but again this is not
developed or put into context.

Mark for (d) = 5 out of 12

Total mark awarded = 16 out of 30

How the candidate could improve their answer

» The candidate missed most of the AO2 Application marks in this question. There was no real attempt, especially in
the longer questions, to apply the answers to OFD or Markus. Business exists in a dynamic environment and the
skills of analysis and evaluation are always improved through the use of context.

» The skill of evaluation was only required in (d), but it made up half of the marks for this question. This is a difficult
skill and developing evaluative skills in terms of justifying a judgement and having developed evaluative comments
need to be practised. The candidate made judgements and tried to weigh up perspectives to those judgements, but
they were too basic and not developed.

14



Example Candidate Response — low
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Example Candidate Responses — Paper 2

Examiner comments

o The command word is

‘identify’, which the candidate does
quickly. There is no need to write

in sentences and a single word
(‘innovative’) would fully answer this
question.

Mark for (a)(i) = 1 out of 1

@ An ‘explain’ question requires
two skills to be shown; knowledge
and application. This candidate
shows some knowledge of
opportunity cost, but they do not
attempt to explain what this actually
means to a business.

Mark for (a)(ii) = 1 out of 3

@ The candidate shows their
working. This allows a mark to

be awarded, despite an incorrect
answer. The formula is slightly
wrong and there is some confusion
over the use of the minus sign.
However, the candidate correctly
identifies the opening balance
(-81) and this is where the mark is
awarded.

Mark for (b)(i) = 1 out of 3

@ The fact that OFD is a new
business is clear application.

e A good example of knowledge
combined with application — the
influence of the market is clear
knowledge, and this is immediately
applied to OFD as a ‘competitive’
market.

@ The candidate is awarded

all the marks for this question

in the first three lines of their
response. The rest of the answer is
unnecessary.

Mark for (b)(ii) = 3 out of 3

e The candidate demonstrates
clear knowledge of a benefit of
offering induction training (improving
productivity).
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Example Candidate Response - low, continued
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Examiner comments

Although there is not application
in this benefit, the candidate shows
a chain of analysis. In this case, a
more productive workforce could
lead to fulfilment of objective,

and this could lead to a healthy
and efficient workforce which

can maintain market share and
increase profit. This is an example
of developed analysis because the
analysis is developed beyond one
simple impact.

@ The candidate seems to move
on to their second benefit, but it is
unclear if this is a different point, or
a continuation of the first benefit.

@ This question asks for two
benefits and there is no need to look
at the potential costs of induction
training.

@ The candidate attempts an
evaluation, however, analysis
questions do not require any
evaluation (AO4) skills to be shown.
This is a waste of time that could be
spent on another question.

Mark for (c) = 4 out of 8
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Example Candidate Response —

low, continued
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Example Candidate Responses — Paper 2

Examiner comments

@ The candidate does not state
why not having accurate cost
information may lead to decline, so
this is not worth any marks.

@ Evaluation can occur at

any point in an answer and the
candidate makes some very limited
AO4 points here about accurate
cost information being crucial in
these areas of the business. They
are awarded marks at the bottom
of AO4 and they make a judgement

@ The candidate demonstrates
some basic knowledge about the
different costs of a business.

@ The candidate attempts to

use some figures to apply their
knowledge. However, they have
chosen to make up some numbers
instead of using the ones in Table
1.1. Since the question specifically
references Markus and OFD, the
response must also use that specific
data.

@ The candidate attempts an
analysis here, but there is only one
effect of not having accurate cost
information (that the business will
end up in debt). To develop the
analysis, the candidate needs to
take this point further, as opposed
to a very vague ‘decline’ of the
business.

Mark for (d) = 3 out of 12

Total mark awarded = 13 out of 30

How the candidate could improve their answer

This candidate showed good business knowledge, and was awarded the majority of AO1 marks in this question.
However, they did not focus their response on the skills required for each question. For example, in (c), the
candidate spent time on the potential costs of induction training, despite the question only asking for benefits.
Likewise, on (b)(ii), the candidate was awarded all of the marks available in the first three lines. The rest of the
answer attempted to analyse the factor and the source of finance. Writing too much and not focusing on the
question is never negatively marked, but it wastes time that would be better spent working towards marks on other

questions.
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In (c), the candidate gave a reasonable benefit of induction training, but then did not clearly differentiate a second
benefit. The use of separate paragraphs for each point made greatly increases the chances of each point being
recognised. Despite this, the second point could be awarded a mark, but it was so close to the first point that it did
not show a new piece of knowledge. Each point made should not only be separated by paragraphs, but also by
clear pieces of knowledge. It also helps if a candidate can start each point with words such as ‘the first benefit...’,
‘the second benefit...".

Common mistakes and guidance for candidates

3

Candidates must be aware of what is required for each command word used in a question paper. The command
word, in combination with the number of marks available, should give a good indication of the length of answer that
is required. Writing too much is not detrimental to the mark awarded, but it does limit the time left for higher mark
questions.

Context is important. If a question references the business or a stakeholder of the business, then the answer
should be specific. That does not mean just using the name of the business or a product. Context is about making
an answer specific to that scenario. For example, the candidate could have stated that OFD should reduce the
price to increase the sales of furniture. They could replace OFD with the name of any business and the word
‘furniture’ with any product and this is likely to be true, but this does not really use context. However, if they stated
that OFD should reduce the price of the furniture because the businesses that buy it are likely to be attracted to
lower prices then this is contextual. That is not true about every business, since not every business sells business
to business.
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Question 2

Example Candidate Response — high Examiner comments
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@ The candidate gives a clear and
concise correct answer.

Mark for (a)(i) = 1 out of 1

Despite being awarded all of the
marks for this question, this is not a
very precise answer. The definition
of sustainability is weak (carries
out operations in a way that can be
maintained in the long term), but
the candidate demonstrates some
knowledge here.

e Both application marks are
awarded, but the second one is
limited. ‘Recycled materials’ is

good application of an element

of being sustainable, but ‘so that
future generations can continue
using them’ does not exemplify

this element of sustainability much
more than the definition. A better
answer might have been to use

a specific example, for example
renewable energy, where the use of
the renewable source, such as wind,
does not prevent continued use of
wind power in the future.

Mark for (a)(ii) = 3 out of 3

o The candidate offers a well laid
out answer, starting with the formula
and finishing with a clear overall
answer. Correct and appropriate
rounding is expected, but as a
general rule, candidates should

try to give answers to two decimal
places (in this case 22.03 %).

Mark for (b)(i) = 3 out of 3
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Example Candidate Response - high, continued

Examiner comments
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e The candidate is awarded

full marks for this answer. The
knowledge of a reason why
objectives can change is good
(pressure from customers).
However, the application is relatively
limited. Any business could

change their objective to ‘improve
sustainability’ and just because the
data mentions this as a priority for
MXB does not mean that this is
contextual enough. This is awarded
the marks, but only just. The second
application mark is better as the
candidate specifically mentions ‘high
income customers’ who are MXB’s
target market.

Mark for (b)(ii) = 3 out of 3

@ The candidate gives a good
answer, but they go further than

is necessary. All the marks for the
advantage are awarded by this point
in the answer and what comes after
this is unnecessary.

eThe application in the
disadvantage is weak but is
awarded a mark. It is given for
‘specialist scooter shops’ (which

is MXB’s distribution channel).
However, if the word ‘scooter’ was
changed to ‘bread’ then the rest of
the answer would equally apply to a
bakery. This is not good application
and should be avoided. Candidates
should aim to target every sentence
to something specific about the
business to make sure that AO2

is always awarded for every point
made.

Mark for (c) = 8 out of 8
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Example Candidate Response - high, continued Examiner comments
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Example Candidate Response - high, continued Examiner comments
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Total mark awarded = 30 out of 30

How the candidate could improve their answer

Although the candidate was awarded all the marks for this question, their use of context was not successful. Some
of the AO2 marks were awarded using the ‘benefit of the doubt’ (BOD). This is used when an examiner is not fully

convinced that the marks should be awarded, but feels that the candidate is just close enough. A really successful

answer is fully in context and written in a way that it is specific to the given business, in this case MXB.
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Example Candidate Response — middle Examiner comments

Mark for (a)(i) = 1 out of 1

2 (Q) CD e Sz N~ e, 2. e Bonaess Ny A’Le‘_@_um
: : . . The candidate offers little
@) (\\)_‘ﬂ&.ﬁm_%u%&nm_ﬁubuﬁy__m_:\m__w . | | knowledge of sustainability, but

oasabil l,_\@__@_»_ W_Eor_wé 16 MxR enough to award the AO1 mark.
- Wonk-%e, gt i Subiean abu%“&.&_m_ﬂz;__ However, there is no application

‘ ﬁ_@w( ptoe bt (meagrens lsé——-fl(-‘tll!)g—h—— fone e 5 here, despite stating ‘for example’.
i o (q) Examples are a good way to be

awarded application AO2 marks,

L BO ' Ww e » but this is not an example, it is just

. a rewording of the previous piece of
265 £ K50 77X v2%> S » Q5 UG £20= Meched siog | 9 P P

knowledge.
 Maohgh stre. = 99 6 e - | | Mark for (a)(ii) = 1 out of 3
- Mistakes happen and, in this
M 2265 * : : c?se, it is not a barrier to being
é—cj—-_—”Mww Shste—16560Y 1 | rewarded the majority of the marks
e : _ ! | for this question. Because each
; ' - | | stage of the calculation is clearly set
Nz 2 kel Here = 2669, | | out, the candidate can be awarded
- _ T | | a mark for what is correct here
B | e fron. f\_w\yh._ W eblecRuet ima, Camge | | including an own figure rule (OFR)
s Aeak Hole stz & el ooy Se."KHe ey mark for a wrong answer, but with a
()mm Framt M’f Fmpaa_ms.&cgg___ - o ek | | COrrect technique. If the candidate
?'c Lol May Ao lese  imepbak  shtex A de | | had not shown their working and
ge 0 ebk, { | just stated the answer as 26.6 %,

then no marks could be awarded.
Mark for (b)(i) = 2 out of 3

e ‘Sales decreasing’ is a good
reason why a business objective
may change. The data states that
MXB’s sales have fallen by 12 %
and if the candidate had stated this
piece of context, then they would
have been awarded an AO2 mark.
Being as specific as possible to
the given data is essential to be
awarded all the marks.

Mark for (b)(ii) = 1 out of 3
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Example Candidate Response — middle, continued
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Examiner comments

The most common advantage
stated by candidates was ‘increased
sales from launching a new product’.
However, this candidate gives a
different answer that starts off in a
confusing way. It is difficult to see
why employees being familiar with
the company would be a benefit,
but fortunately the candidate makes
this clearer by linking this to training
costs. There is nothing wrong with
this answer, but it is a risk when
a candidate goes for an obscure
answer. Using the most obvious
answer is often the best route to
being awarded full marks.

e The candidate does not state
their answer in the most obvious
way. Fortunately, the following
sentence makes this clearer, puts
the answer into context, and has a
developed chain of analysis.

Mark for (c) = 8 out of 8
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Example Candidate Responses — Paper 2

Examiner comments
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Q This introductory sentence
does not add to the answer. It is
unnecessary and wastes time that
could be spent on showing the skills
required in this question.

e This is a good use of context,
which applies the point about price
being a suitable change to the
marketing mix.

@ This chain of analysis is not
successful, but the candidate can
be awarded marks at Level 2 AO3.
The consequence of reducing

price making it more affordable to
customers is the weaker element of
the analysis, however stating that
this leads to an increase in market
share is a much better addition.

9 This conclusion just gets into
Level 2 AO4. The candidate offers
more than just a basic judgement
about the changes to the marketing
mix suggested, but there is no use
of context within the judgement
and only a weak attempt to weigh
up the factors which might limit or
aid this judgement. The candidate
is awarded marks at the bottom

of Level 2 AO4 and their answer
requires context and further
development to increase it to
Level 3 AO4.

@ The candidate appears to
have run out of time and does not
complete their answer. This is a
common reason why candidates
do not achieve higher marks in
Question 2. By focusing on the
skills required in each question,
candidates are more likely to
leave enough time to give the last
question a full answer.

Mark for (d) = 8 out of 12

Total mark awarded = 21 out of 30
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How the candidate could improve their answer

The candidate needed to check their answers to numerical questions. This is especially important since calculators
were allowed in this examination. Most candidates had the time available to double check their answers and make
sure marks were not missed by making a basic mistake. However, by setting out the stages of the calculation, a
simple mistake would not end up becoming a zero-mark answer.

Time management is important. Most candidates tackled the questions in this examination in order (but this was
not compulsory). That means that one of the two largest mark questions was usually at the end of the examination.
It would be very difficult to gain all the marks in less than 10-15 minutes of the examination and this might be

the question you are best at answering. Many candidates liked marketing as a topic and having less time on this
question may have cost this candidate some marks which they could have easily been awarded.
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Example Candidate Response —

low
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Example Candidate Responses — Paper 2

Examiner comments

a The candidate did not give an
answer for part (a)(i) so no mark
could be awarded.

Mark for (a)(i) = 0 out of 1

e The candidate shows no
understanding of sustainability.

Mark for (a)(ii) = 0 out of 3

@ The candidate uses the
incorrect formula here. However, if
they correctly calculated the total
market size, then they could have
been awarded 1 mark.

Mark for (b)(i) = 0 out of 3

o This question calls for a reason
why MXB’s objectives might
change. To be awarded 3 marks, the
candidate needs to show knowledge
and good application to the context.
The knowledge here is weak,

but correct, but there is no real
application to the context. Using the
name of the business or product is
never enough for application (AO2)
marks.

Mark for (b)(ii) = 1 out of 3

e The candidate shows some
clear knowledge of an advantage
of launching a new product range
and limited analysis of this in terms
of leading to more customers.
However, this is a fairly vague
impact of the improved brand
image and the candidate misses
the opportunity to develop this into
a chain of analysis. They attempt to
use the context, but ‘hyped up the
youth’ is not specific enough to the
context given.

e The candidate demonstrates
some knowledge of a disadvantage
in terms of increasing costs, but they
do not apply or analyse this.

Mark for (c) = 3 out of 8
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Example Candidate Responses — Paper 2

Example Candidate Response - low, continued

Examiner comments
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Mark for (d) = 5 out of 12
Total mark awarded =9 out of 30
How the candidate could improve their answer

* In(d), the candidate developed their analysis of two points where only one was needed. However, they did not
attempt include an evaluation in their response. This is a common mistake, where candidates overdo analysis
and do not spend enough time on evaluation. Candidates should be made aware of the marks available for each
skill and design their answers to reflect this. On a 12-mark evaluation question, half of the marks are for AO4.
Therefore, half of the response should be focused on AO4. This question asks candidates to evaluate how MXB
can change its marketing mix to extend the product life cycle of its range of mountain bikes, so a good response
should include a clear judgement on what changes are most likely to achieve this. Of the two changes suggested,
neither is judged to be better than the other and there is no attempt to weigh up the importance of the changes
against one another.

» The candidate made very little application to the context of MXB. Application requires more than just using the
name of the business or the product. They needed to tailor their answer to the given context. If the answer could
be applied to any business, then it is not truly applied. For example, in (b)(ii), if the candidate had stated that MXB
needed to adapt to the new processes involved in producing the batteries for the new electric bikes, then this would

have been

application.

Common mistakes and guidance for candidates

The data in each question contained clues and signposts to the best responses. For example, in answer to (d), there
were an almost infinite number of possible things that MXB could change in their marketing mix. However, the context
provided clear guidance about what was most important to MXB as a business. For example, MXB has been trading
for 15 years, it was market leader in country J and made high-quality bikes. In fact, the data has plenty of context that
made some responses more appropriate and easier to argue than others. Candidates should spend some time at the
start of each question reading, understanding and thinking about the context. Candidates who spent their time doing
this, usually produced more successful and more specific answers to the questions.
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